
Assembly Instructions 

SVEN
Storage Bed

VERSION 1.0



ASSEMBLY INSTRUCTIONS
Read these instructions carefully and keep for future 
reference. Refer to parts inventory for guidance, and 
ensure you have all pieces before starting. 

When assembling, place all parts on a soft, clean, and flat 
surface such as a carpet to prevent scratches.

If you’re having difficulty, our friendly Customer Care 
team is always here to help. Call us at 1.888.746.3455 
during business hours, email service@article.com or chat 
live at article.com.

SVEN Storage Bed Page 2 of 24

PARTS INVENTORY

ID DESCRIPTION QTY

HEADBOARD 1

FOOTBOARD 1

LEFT SIDE RAIL 1

RIGHT SIDE RAIL 1

LONG BOTTOM RAIL 1

SHORT BOTTOM RAIL 2

CENTER SUPPORT LEG 1

LIFT UP CENTER RAIL 1

LIFT UP MECHANISM LEFT 1

PARTS INVENTORY CONT.

ID DESCRIPTION QTY

LIFT UP MECHANISM RIGHT 1

LIFT UP MECHANISM FRONT 1

LIFT UP MECHANISM BACK 1

SLATS 13

BOTTOM BASE 4

1 hour
5

10

11

12

13

14

TIME # OF PEOPLE

TAPE MEASURE

DIFFICULTY



ASSEMBLY INSTRUCTIONS
Read these instructions carefully and keep for future 
reference. Refer to parts inventory for guidance, and 
ensure you have all pieces before starting. 

When assembling, place all parts on a soft, clean, and flat 
surface such as a carpet to prevent scratches.

If you’re having difficulty, our friendly Customer Care 
team is always here to help. Call us at 1.888.746.3455 
during business hours, email service@article.com or chat 
live at article.com.

SVEN Storage Bed Page 3 of 24

PARTS INVENTORY

ID DESCRIPTION QTY

M8 × 30MM ALLEN HEAD SCREW 37

M6 × 20MM ALLEN HEAD SCREW 10

M6 × 20MM JCN NUT SCREW 10

RUBBER PAD 8

M8 WASHER 10

M6 WASHER 10

M8 LOCK WASHER 6

M5 ALLEN KEY 1

M8 NUT 4

PARTS INVENTORY CONT.

ID DESCRIPTION QTY

SPANNER 1

STRAP HANDLE 2

L SUPPORT BRACKET 4

KING GAS CYLINDER 2

M4 ALLEN KEY 2



#

Page 4 of 24SVEN Storage Bed

BEFORE YOU START
1. Please check that all parts are present before you start the 

assembly of your furniture, as once assembled, the furniture 
is exempt from our home approval policy.

2. For ease and speed of assembly, we recommend that 
before you commence each step of the assembly, that you 
identify all the parts required for that step. 

3. For larger items, please ensure that you have sufficient 
space and people (as indicated on page 1) to assemble your 
product safely.

4. We reccomend that, all items are assembled near to the 
area in which they will be placed in use, to avoid moving the 
product unnecessarily once assembled. 

5. For protection of your furniture, particularly items of high 
gloss finish, we recommend that the product is placed on a 
protected surface during assembly to prevent any damage. 

6. During assembly please take care not to over tighten any 
fittings, as this may damage the product.

7. Keep the central leg above the ground. This is to prevent 
the leg from breaking should the bed be moved, and also 
allows some flex in the central rail when the bed is in use. 

8. Machine screwdriver is not recommended to use. 

CARE AND MAINTENANCE
• Please periodically check all fittings and re-tighten as necessary.

• To clean your item, please use damp cloth and wipe clean.

• Please do not jump on your furniture.

• Never allow any kind of liquid to remain on your furniture. 
Absorption can cause finishes to de-laminate.

• Periodically check the condition of your bed slats and plastic 
locating caps to ensure they are in good condition and have not 
become loose.

• It is important when moving your bed that it is best to lift the bed. 
Never drag it. 

• Please kindly take account of your floor covering when 
assembling a new bed. If the floor offers little resistance (such as 
wood or laminate) then it is recommended to use rug or similar 
be placed under each leg. 



Page 5 of 24SVEN Storage Bed

1011

12

13

14



Page 6 of 24SVEN Storage Bed

1

×4

×2

50%

Do not fully tighten bolts.!

Fully tighten bolts with 
L support bracket (L).!

100%



Page 7 of 24SVEN Storage Bed

2

×4

×2

50%

Do not fully tighten bolts.!

Fully tighten bolts with 
L support bracket (L).!

100%



Page 8 of 24SVEN Storage Bed

3

×4 Fully tighten bolts with 
L support bracket (L).!

100%



#

Page 9 of 24SVEN Storage Bed

4
Hook the side rail brackets 
over the bolts on footboard.!

Make sure the side rail and 
footboard is square before 
tightening the screw.

!

Tighten the bottom scew.!

Tighten the upper screw.!

Step 1 Step 2 Step 3

Step 4



Page 10 of 24SVEN Storage Bed

5
Hook the side rail brackets 
over the bolts on both sides.!



#

Page 11 of 24SVEN Storage Bed

6



#

Page 12 of 24SVEN Storage Bed

7
Fully tighten the bolts with 
the center support leg #7.!



#

Page 13 of 24SVEN Storage Bed

8
Make sure all the frame corners 
are at 900 angle. Fully tighten all 
the bolts in headboard, footboard 
and side rail.

!



#

Page 14 of 24SVEN Storage Bed

9

10

11

12

STEP 1

STEP 2

HOLD

HOLD
TURN

TURN



#

Page 15 of 24SVEN Storage Bed

10

STEP 1

STEP 2

×8



#

Page 16 of 24SVEN Storage Bed

Carefully place the lift-up mechanism on the 
side rail hook bracket and L support bracket.!

11



#

Page 17 of 24SVEN Storage Bed

×5

×5

12
Fully tighten the bolts with the 
lift-up mechanism frame.!



#

Page 18 of 24SVEN Storage Bed

13

×2

To attach the strap handle (K), insert and 
hold the nut screw (C) while tightening 
the allen head screw (B).

!



#

Page 19 of 24SVEN Storage Bed

14

×10

13

STEP 1

STEP 1

STEP 2

STEP 2

STEP 3

STEP 3

STEP 4

STEP 4

STEP 5

STEP 5



#

Page 20 of 24SVEN Storage Bed

15

×4

Front View

To attach the gas cylinder (M) to 
the lift up mechanism, push the gas 
cylinder to the mechanism stopper. 
Use nut (I) and spanner (J) provided 
as shown. Fully tighten all bolts.

!



#

Page 21 of 24SVEN Storage Bed

16

14

14

14

14

Step 2

Step 3

Step 4 Step 1



#

Page 22 of 24SVEN Storage Bed

17

SAFETY WARNING: Please do not allow 
children or pets inside the storage area. 

SAFETY WARNING: Please becareful 
when lifting. Only with mattress on top. 
To be operated by adults only.



#

Page 23 of 24SVEN Storage Bed

18

SAFETY WARNING: Please do not allow 
children or pets inside the storage area. 

SAFETY WARNING: Please becareful 
when lifting. Only with mattress on top. 
To be operated by adults only.

SAFETY WARNING: Please do not press down 
on the mattress when the bed frame is in the 
lift up position. The bed frame top must only 
be closed by using both center handles.



#

Page 24 of 24SVEN Storage Bed

19

MATTRESS

MATTRESS

MATTRESS


